

## NONLINEAR SEMIGROUPS AND DIFFERENTIAL INCLUSIONS IN PROBABILISTIC NORMED SPACES

S. S. CHANG, K. S. HA, Y. J. CHO,  
B. S. LEE AND Y. Q. CHEN

**ABSTRACT** The purpose of this paper is to introduce and study the semigroups of nonlinear contractions in probabilistic normed spaces and to establish the Crandall-Liggett's exponential formula for some kind of accretive mappings in probabilistic normed spaces. As applications, we utilize these results to study the Cauchy problem for a kind of differential inclusions with accretive mappings in probabilistic normed spaces.

### 1. Introduction

The concept of accretive mappings is of fundamental importance in the theory of set-valued nonlinear operators, differential equations and partial differential equations in Banach spaces, which was introduced independently by F. E. Browder ([3]) and T. Kato ([11]). On the other hand, many authors have done considerable works on semigroups of nonlinear contractions, differential equations and evolution equations in Banach spaces and Hilbert spaces ([1], [2], [4], [7], [8], [12], [13]).

Recently, the authors introduced the concept of accretive mappings ([5]) and some elementary properties of accretive mappings in probabilistic normed spaces have been deduced by K. S. Ha et al. ([9]).

The purpose of this paper is to introduce and study the semigroups of nonlinear contractions in probabilistic normed spaces and to prove

---

Received January 5, 1998

1991 Mathematics Subject Classification 47H20, 47H06, 46S50.

Key words and phrases Semigroup of nonlinear contractions, probabilistic normed space, Crandall-Liggett's exponential formula, semi-inner product and accretive mappings..

Supported by the National Natural Science Foundation of China and the Basic Science Research Institute Program, Ministry of Education, Korea, 1996, Project No BSRI-96-1405 and BSRI-96-1410

that if  $A$  is an accretive mapping in probabilistic normed spaces satisfying the range condition, then  $A$  generates a semigroup of nonlinear contractions. As applications, we shall use these results to study the Cauchy problem of solutions for a kind of differential inclusions with accretive mappings in probabilistic normed spaces.

For the sake of convenience, we shall recall some definitions and notations ([5], [6], [16]).

Throughout this paper, we denote by  $\mathcal{D}$  the set of distribution functions defined on  $\mathbb{R}$ , i.e.,  $f \in \mathcal{D}$  if  $f$  is nondecreasing left-continuous with  $\sup_{t \in \mathbb{R}} f(t) = 1$  and  $\inf_{t \in \mathbb{R}} f(t) = 0$ .

**DEFINITION 1.1.** A *probabilistic normed space* (shortly, *PN-space*) is an ordered pair  $(E, \mathcal{F})$ , where  $E$  is a real linear space and  $\mathcal{F}$  is a mapping from  $E$  into  $\mathcal{D}$  (we denote  $\mathcal{F}(x)$  by  $F_x$ ) satisfying the following conditions: For all  $x, y \in E$ ,

(PN-1)  $F_x(t) = 1$  for all  $t > 0$  if and only if  $x = 0$ ;

(PN-2)  $F_x(0) = 0$ ;

(PN-3)  $F_{\alpha x}(t) = F_x(\frac{t}{|\alpha|})$  for any  $\alpha \in \mathbb{R}$ ,  $\alpha \neq 0$ ;

(PN-4) If  $F_x(t_1) = 1$ ,  $F_y(t_2) = 1$ , then  $F_{x+y}(t_1 + t_2) = 1$ .

**DEFINITION 1.2.** A mapping  $\Delta : [0, 1] \times [0, 1] \rightarrow [0, 1]$  is called a *t-norm* if it satisfies the following conditions: For any  $a, b, c, d \in [0, 1]$ ,

(T-1)  $\Delta(a, 1) = a$ ;

(T-2)  $\Delta(a, b) = \Delta(b, a)$ ;

(T-3)  $\Delta(c, d) \geq \Delta(a, b)$  for  $c \geq a$  and  $d \geq b$ ;

(T-4)  $\Delta(\Delta(a, b), c) = \Delta(a, \Delta(b, c))$ .

A *Menger PN-space* is a triple  $(E, \mathcal{F}, \Delta)$ , where  $(E, \mathcal{F})$  is a *PN-space* and  $\Delta$  is a *t-norm* satisfying

(PN-4')  $F_{x+y}(t_1 + t_2) \geq \Delta(F_x(t_1), F_y(t_2))$  for all  $x, y \in E$  and  $t_1, t_2 \in \mathbb{R}^+ = [0, +\infty)$ .

**DEFINITION 1.3** ([5]). Let  $(E, \mathcal{F}, \Delta)$  be a Menger *PN-space*.

(i)  $A : D(A) \subset E \rightarrow 2^E$  is called an *accretive mapping* if

$$F_{x-y}(t) \geq F_{x-y+\lambda(u-v)}(t)$$

for all  $x, y \in D(A)$ ,  $u \in Ax$ ,  $v \in Ay$  and  $\lambda > 0$ .

(ii)  $A$  is called a *maximal accretive mapping* if

$$F_{x-y_0}(t) \geq F_{x-y_0+\lambda(u-v_0)}(t)$$

for all  $x \in D(A)$ ,  $u \in Ax$  and  $\lambda > 0$ , then  $y_0 \in D(A)$  and  $v_0 \in Ay_0$ .

(iii)  $A$  is called a *m-accretive mapping* if  $A$  is accretive and  $I + A$  is surjective.

(iv)  $A$  is called a *strongly accretive mapping* if there exists a  $k \in (0, 1)$  such that

$$F_{(\lambda-k)(x-y)}(t) \geq F_{(\lambda-1)(x-y)+u-v}(t)$$

for all  $x, y \in D(A)$ ,  $u \in Ax$ ,  $v \in Ay$  and  $\lambda > k$ .

(v)  $A$  is called a *dissipative mapping* (*maximal dissipative*, *m-dissipative*, *respectively*) if  $-A$  is accretive (*maximal accretive*, *m-accretive*, *respectively*).

## 2. Semi-inner products in Menger PN-spaces

In this section, we always assume that  $(E, \mathcal{F}, \Delta)$  is a Menger PN-space.

For any  $\lambda \in (0, 1]$ , we define a real nonnegative function  $P_\lambda : E \rightarrow \mathbb{R}^+$  as follows:

$$P_\lambda(x) = \inf\{t : F_x(t) > 1 - \lambda\} \text{ for all } x \in E.$$

From the definition of  $P_\lambda(x)$ , it is easy to prove the following:

**PROPOSITION 2.1.** *Let  $(E, \mathcal{F}, \Delta)$  be a Menger PN-space with  $\Delta(t, t) \geq t$  for all  $t \in [0, 1]$ . Then for any  $\lambda \in (0, 1)$*

- (i)  $P_\lambda(\alpha x) = |\alpha|P_\lambda(x)$  for all  $\alpha \in \mathbb{R}$  and  $x \in E$ ;
- (ii)  $P_\lambda(x + y) \leq P_\lambda(x) + P_\lambda(y)$  for all  $x, y \in E$ ;
- (iii)  $(P_\lambda(x + ty) - P_\lambda(x))/t$  is nondecreasing in  $t \in (0, +\infty)$  and  $x, y \in E$ ;
- (iv)  $(P_\lambda(x) - P_\lambda(x - ty))/t$  is nonincreasing in  $t \in (0, +\infty)$  and  $x, y \in E$ .

It follows from Proposition 2.1 that the following limits exist:

$$\lim_{t \rightarrow 0^+} (P_\lambda(x + ty) - P_\lambda(x))/t \text{ and } \lim_{t \rightarrow 0^+} (P_\lambda(x) - P_\lambda(x - ty))/t.$$

In the sequel, we denote

$$[x, y]_{\lambda}^{+} = \lim_{t \rightarrow 0^{+}} (P_{\lambda}(x + ty) - P_{\lambda}(x))/t$$

and

$$[x, y]_{\lambda}^{-} = \lim_{t \rightarrow 0^{+}} (P_{\lambda}(x) - P_{\lambda}(x - ty))/t.$$

In what follows we give some basic properties of  $[x, y]_{\lambda}^{\pm}$ :

LEMMA 2.2. *Let  $(E, \mathcal{F}, \Delta)$  be a Menger PN-space with  $\Delta(t, t) \geq t$  for all  $t \in [0, 1]$ . Then we have the following :*

- (i)  $[x, y]_{\lambda}^{-} \leq [x, y]_{\lambda}^{+}$ ;
- (ii)  $|[x, y]_{\lambda}^{\pm}| \leq P_{\lambda}(y)$  and  $[x, \alpha x]_{\lambda}^{\pm} = \alpha P_{\lambda}(x)$  for all  $\alpha \in \mathbb{R}$ ;
- (iii)  $|[x, y]_{\lambda}^{\pm} - [x, z]_{\lambda}^{\pm}| \leq P_{\lambda}(y - z)$ ;
- (iv)  $[x, y]_{\lambda}^{+} = -[x, -y]_{\lambda}^{-} = -[-x, y]_{\lambda}^{-}$ ;
- (v)  $[sx, ry]_{\lambda}^{\pm} = r[x, y]_{\lambda}^{\pm}$  for all  $r, s \geq 0$ ;
- (vi)  $[x, y + z]_{\lambda}^{+} \leq [x, y]_{\lambda}^{+} + [x, z]_{\lambda}^{+}$  and  $[x, y + z]_{\lambda}^{-} \geq [x, y]_{\lambda}^{-} + [x, z]_{\lambda}^{-}$ ;
- (vii)  $[x, y + z]_{\lambda}^{+} \geq [x, y]_{\lambda}^{+} + [x, z]_{\lambda}^{-}$  and  $[x, y + z]_{\lambda}^{-} \leq [x, y]_{\lambda}^{-} + [x, z]_{\lambda}^{+}$ ;
- (viii)  $[x, y + \alpha x]_{\lambda}^{\pm} = [x, y]_{\lambda}^{\pm} + \alpha P_{\lambda}(x)$  for all  $\alpha \in \mathbb{R}$ ;
- (ix) If  $x(t) : [a, b] \rightarrow E$  is differentiable in  $t \in (a, b)$  and  $\varphi_{\lambda}(t) = P_{\lambda}(x(t))$ , then

$$D^{+}\varphi_{\lambda}(t) = \lim_{h \rightarrow 0^{+}} (P_{\lambda}(x(t+h)) - P_{\lambda}(x(t)))/h = [x(t), x'(t)]_{\lambda}^{+};$$

$$D^{-}\varphi_{\lambda}(t) = \lim_{h \rightarrow 0^{+}} (P_{\lambda}(x(t)) - P_{\lambda}(x(t-h)))/h = [x(t), x'(t)]_{\lambda}^{-};$$

(x)  $[x, y]_{\lambda}^{+}$  is upper semi-continuous and  $[x, y]_{\lambda}^{-}$  is lower semi-continuous.

*Proof.* Properties (i)-(v) follow easily and so the details are omitted here.

(vi) Since

$$\begin{aligned} & (P_{\lambda}(x + t(y + z)) - P_{\lambda}(x))/t \\ & \leq \frac{1}{2t} \{ [P_{\lambda}(x + 2ty) - P_{\lambda}(x)] + [P_{\lambda}(x + 2tz) - P_{\lambda}(x)] \}, \end{aligned}$$

we have

$$[x, y + z]_{\lambda}^{+} \leq [x, y]_{\lambda}^{+} + [x, z]_{\lambda}^{+}.$$

Similarly, we can prove that  $[x, y + z]_{\lambda}^{-} \geq [x, y]_{\lambda}^{-} + [x, z]_{\lambda}^{-}$ .  
 (vii) Since

$$[x, y]_{\lambda}^{+} = [x, y + z - z]_{\lambda}^{+} \leq [x, y + z]_{\lambda}^{+} + [x, -z]_{\lambda}^{+},$$

from (iv), it follows that  $[x, -z]_{\lambda}^{+} = -[x, z]_{\lambda}^{-}$  and so we have

$$[x, y + z]_{\lambda}^{+} \geq [x, y]_{\lambda}^{+} + [x, z]_{\lambda}^{-}.$$

(viii) By (vi) and (vii), we have

$$[x, y + \alpha x]_{\lambda}^{+} \leq [x, y]_{\lambda}^{+} + [x, \alpha x]_{\lambda}^{+} = [x, y]_{\lambda}^{+} + \alpha P_{\lambda}(x)$$

and

$$[x, y + \alpha x]_{\lambda}^{+} \geq [x, y]_{\lambda}^{+} + [x, \alpha x]_{\lambda}^{-} = [x, y]_{\lambda}^{+} + \alpha P_{\lambda}(x),$$

respectively. Therefore, we have

$$[x, y + \alpha x]_{\lambda}^{+} = [x, y]_{\lambda}^{+} + \alpha P_{\lambda}(x).$$

Similarly, we can prove that  $[x, y + \alpha x]_{\lambda}^{-} = [x, y]_{\lambda}^{-} + \alpha P_{\lambda}(x)$ .  
 (ix) Since

$$\begin{aligned} & |D^{+}\varphi_{\lambda}(t) - [x(t), x'(t)]_{\lambda}^{+}| \\ &= \left| \lim_{h \rightarrow 0^{+}} (P_{\lambda}(x(t+h)) - P_{\lambda}(x(t)))/h \right. \\ &\quad \left. - \lim_{h \rightarrow 0^{+}} (P_{\lambda}(x(t) + hx'(t)) - P_{\lambda}(x(t)))/h \right| \\ &= \left| \lim_{h \rightarrow 0^{+}} \frac{1}{h} (P_{\lambda}(x(t+h)) - P_{\lambda}(x(t) + hx'(t))) \right| \\ &\leq \lim_{h \rightarrow 0^{+}} \left| \frac{1}{h} (P_{\lambda}(x(t+h) - x(t) - hx'(t))) \right| \\ &= \lim_{h \rightarrow 0^{+}} \left| P_{\lambda}\left(\frac{x(t+h) - x(t) - hx'(t)}{h}\right) \right| = 0, \end{aligned}$$

(ix) is true.

(x) Letting  $x_n \rightarrow x$  and  $y_n \rightarrow y$ , since

$$[x_n, y_n]_{\lambda}^{+} \leq \frac{1}{t} (P_{\lambda}(x_n + ty_n) - P_{\lambda}(x_n)) \text{ for all } t > 0,$$

we have

$$\overline{\lim}_{n \rightarrow \infty} [x_n, y_n]_{\lambda}^+ \leq \frac{1}{t} (P_{\lambda}(x + ty) - P_{\lambda}(x)).$$

Letting  $t \rightarrow 0^+$ , it follows that  $\overline{\lim}_{n \rightarrow \infty} [x_n, y_n]_{\lambda}^+ \leq [x, y]_{\lambda}^+$ , which means that  $[x, y]_{\lambda}^+$  is upper semi-continuous.

Similarly, we can prove that  $[x, y]_{\lambda}^-$  is lower semi-continuous. This completes the proof.

Next, we define a mapping  $j_{\lambda} : E \rightarrow 2^{E^*}$  ( $E^*$  is the dual space of  $E$ ) by

$$j_{\lambda}(x) = \{f_{\lambda} \in E^* : f_{\lambda}(x) = P_{\lambda}(x), [x, y]_{\lambda}^- \leq f_{\lambda}(y) \leq [x, y]_{\lambda}^+, y \in E\}.$$

Now we claim that for any  $x \in E$ ,  $j_{\lambda}(x) \neq \emptyset$ . In fact, for any  $y_0 \in E$ , we define  $f_{\lambda}(\alpha y_0) = \alpha [x, y_0]_{\lambda}^+$  for all  $\alpha \in \mathbb{R}$ .

- (a) If  $\alpha \geq 0$ , then  $f_{\lambda}(\alpha y_0) = [x, \alpha y_0]_{\lambda}^+$ ;
- (b) If  $\alpha < 0$ , then

$$\begin{aligned} \alpha [x, y_0]_{\lambda}^+ &= -|\alpha| [x, y_0]_{\lambda}^+ = -[x, |\alpha| y_0]_{\lambda}^+ \\ &= [x, -|\alpha| y_0]_{\lambda}^- = [x, \alpha y_0]_{\lambda}^- \\ &\leq [x, \alpha y_0]_{\lambda}^+. \end{aligned}$$

Therefore, we have  $f_{\lambda}(\alpha y_0) \leq [x, \alpha y_0]_{\lambda}^+$  for all  $\alpha \in \mathbb{R}$ . By (v) and (vi) of Lemma 2.2,  $[x, y]_{\lambda}^+$  is subadditive in  $y \in E$ . By using the Hahn-Banach Theorem ([15]), there exists a linear functional  $\widetilde{f}_{\lambda} : E \rightarrow \mathbb{R}$  such that  $\widetilde{f}_{\lambda}(\alpha y_0) = f_{\lambda}(\alpha y_0)$  and  $-[x, -y]_{\lambda}^+ \leq \widetilde{f}_{\lambda}(y) \leq [x, y]_{\lambda}^+$  for all  $y \in E$ , i.e.,

$$[x, y]_{\lambda}^- \leq \widetilde{f}_{\lambda}(y) \leq [x, y]_{\lambda}^+.$$

Especially, we have  $\widetilde{f}_{\lambda}(x) = [x, x]_{\lambda}^+ = P_{\lambda}(x)$ .

The continuity of  $\widetilde{f}_{\lambda}$  follows from  $|\widetilde{f}_{\lambda}(x)| \leq |[x, y]_{\lambda}^+| \leq P_{\lambda}(y)$  immediately. Therefore, we know  $\widetilde{f}_{\lambda} \in j_{\lambda}(x)$ . This completes the proof.

Moreover, we can also prove that  $j_{\lambda}(x)$  is convex. Hence, by the Banach-Alaoglu Theorem, we have the following :

**PROPOSITION 2.3.** For each  $x \in E$  and  $\lambda \in (0, 1]$ ,  $j_\lambda(x)$  is a nonempty convex weak\* compact subset of  $E^*$ .

In view of the above argument and Proposition 2.3, we have the following :

**PROPOSITION 2.4.**  $[x, y]_\lambda^+ = \max\{f_\lambda(y) : f_\lambda \in j_\lambda(x)\}$  and

$$[x, y]_\lambda^- = \min\{f_\lambda(y) : f_\lambda \in j_\lambda(x)\}.$$

**DEFINITION 2.1.** (i)  $(x, y)_\lambda^+ = P_\lambda(x) \cdot [x, y]_\lambda^+$  is called the *upper semi-inner product* with respect to  $\lambda \in (0, 1]$ ,

(ii)  $(x, y)_\lambda^- = P_\lambda(x) \cdot [x, y]_\lambda^-$  is called the *lower semi-inner product* with respect to  $\lambda \in (0, 1]$ .

For some properties of the semi-inner products, refer to [14].

**DEFINITION 2.2.** The mapping  $\mathfrak{S}_\lambda : E \rightarrow 2^{E^*}$  defined by

$$\mathfrak{S}_\lambda(x) = \{P_\lambda(x) \cdot f_\lambda : f_\lambda \in j_\lambda(x)\} \text{ for all } x \in E$$

is called the *duality mapping* with respect to  $\lambda \in (0, 1]$ .

It follows from Lemma 2.2 that the following corollary holds:

**COROLLARY 2.5.** (i)  $(x, y)_\lambda^- \leq (x, y)_\lambda^+$ ;  
 (ii)  $|(x, y)_\lambda^\pm| \leq P_\lambda(x) \cdot P_\lambda(y)$  and  $(x, \alpha x)_\lambda^\pm \leq \alpha P_\lambda^2(x)$  for all  $\alpha \in \mathbb{R}$ ;  
 (iii)  $|(x, y)_\lambda^\pm - (x, z)_\lambda^\pm| \leq P_\lambda(x) \cdot P_\lambda(y - z)$ ;  
 (iv)  $(x, y)_\lambda^+ = (-x, -y)_\lambda^- = -(-x, y)_\lambda^-$ ;  
 (v)  $(sx, ry)_\lambda^\pm = s \cdot r \cdot (x, y)_\lambda^\pm$  for all  $r, s \geq 0$ ;  
 (vi)  $(x, y + z)_\lambda^+ \leq (x, y)_\lambda^+ + (x, z)_\lambda^+$  and  $(x, y + z)_\lambda^- \geq (x, y)_\lambda^- + (x, z)_\lambda^-$ ;  
 (vii)  $(x, y + z)_\lambda^+ \geq (x, y)_\lambda^+ + (x, z)_\lambda^-$  and  $(x, y + z)_\lambda^- \leq (x, y)_\lambda^- + (x, z)_\lambda^+$ ;  
 (viii)  $(x, y + \alpha x)_\lambda^\pm = (x, y)_\lambda^\pm + \alpha P_\lambda^2(x)$  for all  $\alpha \in \mathbb{R}$ ;  
 (ix) If  $x(t) : [a, b] \rightarrow E$  is differentiable in  $t \in (a, b)$  and  $\varphi_\lambda(t) = P_\lambda^2(x(t))$ , then

$$D^+ \varphi_\lambda(t) = 2(x(t), x'(t))_\lambda^+ \text{ and } D^- \varphi_\lambda(t) = 2(x(t), x'(t))_\lambda^-;$$

(x)  $(x, y)_\lambda^+$  is upper semi-continuous and  $(x, y)_\lambda^-$  is lower semi-continuous.

### 3. Accretive mappings and nonlinear semigroups in $PN$ -spaces

In this section, we always assume that  $(E, \mathcal{F}, \Delta)$  is a complete Menger  $PN$ -space with  $\Delta(t, t) \geq t$  for all  $t \in [0, 1]$ .

LEMMA 3.1. *Let  $A : D(A) \subset E \rightarrow 2^E$  be a mapping. Then the following conclusions are equivalent:*

- (i)  $A$  is accretive;
- (ii)  $P_\lambda(x - y) \leq P_\lambda(x - y + \epsilon(u - v))$  for all  $x, y \in D(A)$ ,  $u \in Ax$ ,  $v \in Ay$  and for all  $\epsilon > 0$ ,  $\lambda \in (0, 1]$ ;
- (iii)  $[x - y, u - v]_\lambda^+ \geq 0$  for all  $x, y \in D(A)$ ,  $u \in Ax$ ,  $v \in Ay$  and  $\lambda \in (0, 1]$ .

*Proof.* (i)  $\iff$  (ii). If  $A$  is accretive, then

$$F_{x-y}(t) \geq F_{x-y+\epsilon(u-v)}(t)$$

for all  $x, y \in D(A)$ ,  $u \in Ax$ ,  $v \in Ay$  and  $\epsilon > 0$ . Besides, for given  $x, y \in D(A)$ ,  $u \in Ax$ ,  $v \in Ay$  and  $\epsilon > 0$ , letting

$$\begin{aligned} P_\lambda(x - y + \epsilon(u - v)) &= \inf\{t : F_{x-y+\epsilon(u-v)}(t) > 1 - \lambda\} \\ &= \lim_{n \rightarrow \infty} \{t_n : F_{x-y+\epsilon(u-v)}(t_n) > 1 - \lambda\}, \end{aligned}$$

then we have  $F_{x-y}(t_n) > 1 - \lambda$  for all  $n \geq 1$  and so

$$P_\lambda(x - y) = \inf\{t : F_{x-y}(t) > 1 - \lambda\} \leq \lim_{n \rightarrow \infty} t_n,$$

which implies that the conclusion (ii) is true.

Conversely, suppose that (ii) is true, but the conclusion (i) is not true. Then there exist  $x_0, y_0 \in D(A)$ ,  $\epsilon_0 > 0$ ,  $u_0 \in Ax_0$ ,  $v_0 \in Ay_0$  and  $t_0 > 0$  such that

$$F_{x_0-y_0}(t_0) < F_{x_0-y_0+\epsilon_0(u_0-v_0)}(t_0).$$

Therefore, there exists  $\lambda_0 \in (0, 1]$  such that  $F_{x_0-y_0}(t_0) = 1 - \lambda_0$ . This implies that

$$P_{\lambda_0}(x_0 - y_0) = \inf\{t : F_{x_0-y_0}(t) > 1 - \lambda_0\} \geq t_0.$$



Since  $F_{x_0-y_0+\epsilon_0(u_0-v_0)}(t_0) > 1 - \lambda_0$  and  $F_{x_0-y_0+\epsilon_0(u_0-v_0)}(t_0)$  is left continuous, there exists  $\delta_0 > 0$  such that

$$F_{x_0-y_0+\epsilon_0(u_0-v_0)}(t_0 - \delta_0) > 1 - \lambda_0.$$

Hence we have

$$P_{\lambda_0}(x_0 - y_0 + \epsilon_0(u_0 - v_0)) \leq t_0 - \delta_0 < t_0 \leq P_{\lambda_0}(x_0 - y_0),$$

which is a contradiction

(ii)  $\iff$  (iii) By Proposition 2.1 (iii) and the definition of  $[\cdot, \cdot]_{\lambda}^+$ , it is obvious that the conclusions are true. This completes the proof.

LEMMA 3.2. Let  $A : D(A) \subset E \rightarrow 2^E$  be an accretive mapping and  $J_{\epsilon} = (I + \epsilon A)^{-1}$  for all  $\epsilon > 0$ , then

(i)  $P_{\lambda}(J_{\epsilon}x - J_{\epsilon}y) \leq P_{\lambda}(x - y)$  and  $F_{J_{\epsilon}x - J_{\epsilon}y}(t) \geq F_{x-y}(t)$  for all  $t > 0$ ,  $\lambda \in (0, 1]$ , and  $x, y \in R(I + \epsilon A)$ , the range of  $I + \epsilon A$ ;

(ii)  $P_{\lambda}(J_{\epsilon}^n x - x) \leq n \cdot P_{\lambda}(J_{\epsilon}x - x)$  for all  $\lambda \in (0, 1]$ , an integer  $n > 0$  and  $x \in R((I + \epsilon A)^n)$ , and

$$F_{J_{\epsilon}^n x - x}(t) \geq F_{J_{\epsilon}x - x}\left(\frac{t}{n}\right) \text{ for all } t > 0 \text{ and } x \in R((I + \epsilon A)^n);$$

(iii) If  $x_j \in R(I + \epsilon A)$  and  $x_j \rightarrow x_0 \in D(A) \cap R(I + \epsilon A)$ , then

$$\overline{\lim}_{j \rightarrow \infty} P_{\lambda}(J_{\epsilon}x_j - x_j) \leq \epsilon \cdot \inf_{u \in Ax_0} P_{\lambda}(u) \text{ for all } \lambda \in (0, 1]$$

and

$$\underline{\lim}_{j \rightarrow \infty} F_{J_{\epsilon}x_j - x_j}(t) \geq \sup_{u \in Ax_0} F_u\left(\frac{t}{\epsilon}\right) \text{ for all } t > 0.$$

*Proof.* (i) is an immediate consequence of Lemma 3.1 and the accretivity of  $A$ .

(ii) can be obtained from (i) immediately

Next, we prove (iii). For any given  $u \in Ax_0$ , letting  $w = x_0 + \epsilon u$ , then we have

$$x_0 = (I + \epsilon A)^{-1}w = J_{\epsilon}w$$

and

$$P_\lambda(J_\epsilon x_j - x_j) \leq P_\lambda(J_\epsilon x_j - J_\epsilon w) + P_\lambda(J_\epsilon w - x_j).$$

Hence it follows that

$$\begin{aligned} \overline{\lim}_{j \rightarrow \infty} P_\lambda(J_\epsilon x_j - x_j) &\leq \overline{\lim}_{j \rightarrow \infty} (P_\lambda(x_j - w) + P_\lambda(x_0 - x_j)) \\ &\leq \overline{\lim}_{j \rightarrow \infty} P_\lambda(x_j - w) \\ &\leq \overline{\lim}_{j \rightarrow \infty} (P_\lambda(x_j - x_0) + P_\lambda(x_0 - w)) \\ &\leq P_\lambda(-\epsilon u) = \epsilon P_\lambda(u). \end{aligned}$$

Therefore, by the arbitrariness of  $u \in Ax_0$ , we have

$$\overline{\lim}_{j \rightarrow \infty} P_\lambda(J_\epsilon x_j - x_j) \leq \epsilon \cdot \inf_{u \in Ax_0} P_\lambda(u).$$

On the other hand, since

$$\begin{aligned} F_{J_\epsilon x_j - x_j}(t) &\geq \Delta(F_{J_\epsilon x_j - J_\epsilon w}(t - \frac{\eta}{2}), F_{J_\epsilon w - x_j}(\frac{\eta}{2})) \\ &\geq \Delta(F_{x_j - w}(t - \frac{\eta}{2}), F_{x_0 - x_j}(\frac{\eta}{2})) \end{aligned}$$

and

$$F_{x_j - w}(t - \frac{\eta}{2}) \geq \Delta(F_{x_j - x_0}(\frac{\eta}{2}), F_{\epsilon u}(t - \eta))$$

for all  $\eta < t$ , we have

$$F_{J_\epsilon x_j - x_j}(t) \geq \Delta(F_{\epsilon u}(t - \eta), F_{x_0 - x_j}(\frac{\eta}{2}))$$

and so

$$\underline{\lim}_{j \rightarrow \infty} F_{J_\epsilon x_j - x_j}(t) \geq F_u(\frac{t - \eta}{\epsilon}).$$

Since  $F_u(t)$  is left-continuous, letting  $\eta \rightarrow 0^+$ , we have

$$\underline{\lim}_{j \rightarrow \infty} F_{J_\epsilon x_j - x_j}(t) \geq F_u(\frac{t}{\epsilon}),$$

which implies that

$$\varliminf_{j \rightarrow \infty} F_{J_\epsilon x_j - x_j}(t) \geq \sup_{u \in Ax_0} F_u\left(\frac{t}{\epsilon}\right).$$

This completes the proof.

We are now in a position to consider the Cauchy problem of the following differential inclusion with an accretive mapping  $A$ :

$$(E3.1) \quad \begin{cases} u'(t) \in -Au(t), & t > 0, \\ u(0) = u_0 \in D(A). \end{cases}$$

DEFINITION 3.1. A function  $u(\cdot) \in C(\mathbb{R}^+, E)$  is called a *strong solution* of (E3.1) if it satisfies the following conditions :

- (i)  $u(0) = u_0$ ;
- (ii) There exists  $y \in E$  such that

$$F_{u(t) - u(s)}(k) \geq F_{(t-s)y}(k) \text{ for all } k > 0 \text{ and } t, s \in \mathbb{R}^+$$

(In this case, we also say  $u(\cdot)$  to be *Lipschitz continuous*);

- (iii) The derivative  $u'(t)$  of  $u(\cdot)$  exists and satisfies

$$u'(t) \in -Au(t) \text{ for almost all } t \in (0, +\infty).$$

Thus, we have the following:

THEOREM 3.3. Let  $(E, \mathcal{F}, \Delta)$  be a complete Menger PN-space with  $\Delta(t, t) \geq t$  for all  $t \in [0, 1]$  and  $A : D(A) \subset E \rightarrow 2^E$  be an accretive mapping. Then (E3.1) has at most one strong solution.

*Proof.* Let  $u(\cdot)$  and  $v(\cdot)$  be two strong solutions of (E3.1) and denote  $\varphi_\lambda(t) = P_\lambda(u(t) - v(t))$  for all  $\lambda \in (0, 1]$ . Then, by Lemma 2.2 (ix), we have

$$D^- \varphi_\lambda(t) = [u(t) - v(t), u'(t) - v'(t)]_\lambda^-.$$

Therefore, there exist  $w(t) \in Au(t)$  and  $z(t) \in Av(t)$  such that

$$u'(t) = -w(t), \quad v'(t) = -z(t) \text{ for almost all } t \in (0, +\infty)$$

and so we have

$$\begin{aligned} D^- \varphi_\lambda(t) &= [u(t) - v(t), (w(t) - z(t))]_\lambda^- \\ &= -[u(t) - v(t), w(t) - z(t)]_\lambda^+ \\ &\leq 0. \end{aligned}$$

Therefore, we have

$$P_\lambda(u(t) - v(t)) \leq P_\lambda(u(0) - v(0)) = 0 \text{ for all } \lambda \in (0, 1].$$

If  $u(t_0) - v(t_0) \neq 0$  for some  $t_0 \in \mathbb{R}^+$ , then there exists  $k_0 > 0$  such that

$$F_{u(t_0)-v(t_0)}(k_0) < 1.$$

Letting  $F_{u(t_0)-v(t_0)}(k_0) = 1 - \lambda_0$ , then  $\lambda_0 \in (0, 1]$  and so

$$P_{\lambda_0}(u(t_0) - v(t_0)) = \inf\{k : F_{u(t_0)-v(t_0)}(k) > 1 - \lambda_0\} \geq k_0 > 0,$$

which contradicts  $P_{\lambda_0}(u(t_0) - v(t_0)) = 0$ . This implies that  $u(t) = v(t)$  for all  $t \in \mathbb{R}^+$ . This completes the proof.

**DEFINITION 3.2.** Let  $(E, \mathcal{F}, \Delta)$  be a complete Menger  $PN$ -space and  $C$  be a closed subset of  $E$ . A family of operators,  $\{T(t) : C \rightarrow E : t \geq 0\}$ , is called a *semigroup of nonlinear contractions* if it satisfies the following conditions :

- (i)  $T(0)x = x$  for all  $x \in C$ ;
- (ii)  $T(t)T(s) = T(t+s)$  for all  $t, s \geq 0$ ;
- (iii) The mapping  $t \mapsto T(t)x$  is continuous for any  $x \in C$ ;
- (iv)  $F_{T(t)x-T(t)y}(k) \geq F_{x-y}(k)$  for all  $x, y \in C$ ,  $t \geq 0$  and  $k > 0$ .

**THEOREM 3.4.** Let  $A : D(A) \subset E \rightarrow 2^E$  be an accretive mapping satisfying the following conditions:

$$(I + \epsilon A)(D(A)) \supset \overline{D(A)}, \text{ the closure of } D(A), \text{ for all } \epsilon > 0.$$

Then for any  $x \in \overline{D(A)}$ , the following limit exists

$$T(t)x = \lim_{\epsilon \rightarrow 0^+} (I + \epsilon A)^{-[\frac{t}{\epsilon}]} x \text{ for all } t \geq 0,$$

where  $[\frac{t}{\epsilon}]$  is the largest integer which does not exceed  $\frac{t}{\epsilon}$ . Moreover,  $\{T(t) : t \geq 0\}$  is a semigroup of nonlinear contractions.

In order to prove Theorem 3.4, we need the following:

LEMMA 3.5. *Let  $A : D(A) \subset E \rightarrow 2^E$  be an accretive mapping and  $\overline{D(A)} \subset (I + \epsilon A)(D(A))$  for all  $\epsilon > 0$ . Then*

$$F_{J_\epsilon^m x - J_\mu^n x}(t) \geq \sup_{u \in Ax} F_u(t \cdot ((m\epsilon - n\mu)^2 + m\epsilon^2 + n\mu^2)^{-\frac{1}{2}})$$

for all  $x \in D(A)$ ,  $\epsilon, \mu > 0$  and  $m, n$  are nonnegative integers.

*Proof.* We first prove that for any  $x \in D(A)$ ,  $\epsilon, \mu > 0$  and  $\lambda \in (0, 1]$ ,

$$(3.1) \quad P_\lambda(J_\epsilon^m x - J_\mu^n x) \leq \{(m\epsilon - n\mu)^2 + m\epsilon^2 + n\mu^2\}^{\frac{1}{2}} \cdot \inf_{u \in Ax} P_\lambda(u),$$

where  $m, n$  are nonnegative integers.

For each  $x \in D(A)$ ,  $\epsilon, \mu > 0$  and  $\lambda \in (0, 1]$ , let

$$P_{m,n} = P_\lambda(J_\epsilon^m x - J_\mu^n x), \quad m, n = 0, 1, 2, \dots$$

By (ii) and (iii) of Lemma 3.2, we have

$$P_{m,0} \leq m\epsilon \cdot \inf_{u \in Ax} P_\lambda(u), \quad m = 0, 1, 2, \dots,$$

$$P_{0,n} \leq n\mu \cdot \inf_{u \in Ax} P_\lambda(u), \quad n = 0, 1, 2, \dots$$

These mean that (3.1) holds for  $n = 0$  or  $m = 0$ .

Now we suppose that (3.1) holds for a couple of integers  $(m - 1, n)$ ,  $(m, n - 1)$ . For  $x \in D(J_\epsilon)$  and  $y \in D(J_\mu)$ , setting  $\delta = \frac{\epsilon\mu}{\epsilon + \mu}$ , we can easily check

$$J_\delta\left(\frac{\mu}{\epsilon + \mu}x + \frac{\epsilon}{\epsilon + \mu}J_\epsilon x\right) = J_\epsilon x,$$

$$J_\delta\left(\frac{\epsilon}{\epsilon + \mu}y + \frac{\mu}{\epsilon + \mu}J_\mu y\right) = J_\mu y.$$

Therefore, we have

$$\begin{aligned} & P_{m,n} \\ &= P_\lambda(J_\epsilon \cdot J_\epsilon^{m-1}x - J_\mu \cdot J_\mu^{n-1}x) \\ &= P_\lambda\left(J_{\frac{\epsilon\mu}{\epsilon + \mu}}\left(\frac{\mu}{\epsilon + \mu}J_\epsilon^{m-1}x + \frac{\epsilon}{\epsilon + \mu}J_\epsilon^m x\right)\right. \\ &\quad \left.- J_{\frac{\epsilon\mu}{\epsilon + \mu}}\left(\frac{\epsilon}{\epsilon + \mu}J_\mu^{n-1}x + \frac{\mu}{\epsilon + \mu}J_\mu^n x\right)\right) \\ &\leq P_\lambda\left(\frac{\mu}{\epsilon + \mu}J_\epsilon^{m-1}x + \frac{\epsilon}{\epsilon + \mu}J_\epsilon^m x - \frac{\epsilon}{\epsilon + \mu}J_\mu^{n-1}x - \frac{\mu}{\epsilon + \mu}J_\mu^n x\right) \\ &\leq \frac{\epsilon}{\epsilon + \mu}P_\lambda(J_\epsilon^m x - J_\mu^{n-1}x) + \frac{\mu}{\epsilon + \mu}P_\lambda(J_\epsilon^{m-1}x - J_\mu^n x), \end{aligned}$$

i.e.,

$$P_{m,n} \leq \frac{\epsilon}{\epsilon + \mu} P_{m,n-1} + \frac{\mu}{\epsilon + \mu} P_{m-1,n}$$

and thus we have

$$\begin{aligned} & P_{m,n} \\ & \leq \frac{\epsilon}{\epsilon + \mu} \{ (m\epsilon - n\mu)^2 + 2\mu(m\epsilon - n\mu) + m\epsilon^2 + n\mu^2 \}^{\frac{1}{2}} \cdot \inf_{u \in Ax} P_\lambda(u) \\ & \quad + \frac{\mu}{\epsilon + \mu} \{ (m\epsilon - n\mu)^2 - 2\epsilon(m\epsilon - n\mu) + m\epsilon^2 + n\mu^2 \}^{\frac{1}{2}} \cdot \inf_{u \in Ax} P_\lambda(u) \\ & \leq \left\{ \frac{\epsilon}{\epsilon + \mu} [(m\epsilon - n\mu)^2 + 2\mu(m\epsilon - n\mu) + m\epsilon^2 + n\mu^2] \right. \\ & \quad \left. + \frac{\mu}{\epsilon + \mu} [(m\epsilon - n\mu)^2 - 2\epsilon(m\epsilon - n\mu) + m\epsilon^2 + n\mu^2] \right\}^{\frac{1}{2}} \cdot \inf_{u \in Ax} P_\lambda(u) \\ & = \{ (m\epsilon - n\mu)^2 + m\epsilon^2 + n\mu^2 \}^{\frac{1}{2}} \cdot \inf_{u \in Ax} P_\lambda(u). \end{aligned}$$

Therefore, the conclusion of (3.1) is proved.

Now, suppose that the conclusion of Lemma 3.5 is not true. There exist  $x_0$ ,  $m_0$ ,  $n_0$ ,  $\epsilon_0$ ,  $\mu_0$  and  $t_0 > 0$  such that

$$F_{J_{\epsilon_0}^{m_0} x_0 - J_{\mu_0}^{n_0} x_0}(t_0) < \sup_{u \in Ax_0} F_u(t_0 \cdot \{ (m_0\epsilon_0 - n_0\mu_0)^2 + m_0\epsilon_0^2 + n_0\mu_0^2 \}^{-\frac{1}{2}}).$$

Therefore, there exists  $u_0 \in Ax_0$  such that

$$F_{J_{\epsilon_0}^{m_0} x_0 - J_{\mu_0}^{n_0} x_0}(t_0) < F_{u_0}(t_0 \cdot \{ (m_0\epsilon_0 - n_0\mu_0)^2 + m_0\epsilon_0^2 + n_0\mu_0^2 \}^{-\frac{1}{2}}).$$

Letting  $F_{J_{\epsilon_0}^{m_0} x_0 - J_{\mu_0}^{n_0} x_0}(t_0) = 1 - \lambda_0$ , then  $\lambda_0 \in (0, 1]$ . It is obvious that

$$P_{\lambda_0}(J_{\epsilon_0}^{m_0} x_0 - J_{\mu_0}^{n_0} x_0) = \inf\{t : F_{J_{\epsilon_0}^{m_0} x_0 - J_{\mu_0}^{n_0} x_0}(t) > 1 - \lambda_0\} \geq t_0$$

and

$$\begin{aligned} P_{\lambda_0}(u_0) & = \inf\{t : F_{u_0}(t) > 1 - \lambda_0\} \\ & < t_0 \cdot \{ (m_0\epsilon_0 - n_0\mu_0)^2 + m_0\epsilon_0^2 + n_0\mu_0^2 \}^{-\frac{1}{2}}. \end{aligned}$$

Hence we have

$$P_{\lambda_0}(J_{\epsilon_0}^{m_0} x_0 - J_{\mu_0}^{n_0} x_0) > \{ (m_0\epsilon_0 - n_0\mu_0)^2 + m_0\epsilon_0^2 + n_0\mu_0^2 \}^{\frac{1}{2}} \cdot \inf_{u \in Ax} P_{\lambda_0}(u),$$

which contradicts (3.1). This completes the proof.

*Proof of Theorem 3.4.* For each  $x \in D(A)$ , by Lemma 3.5, we have

$$F_{J_\epsilon^{[\frac{t}{\epsilon}]}x - J_\mu^{[\frac{t}{\mu}]}x}(k) \geq \sup_{u \in Ax} F_u(k \cdot \{([\frac{t}{\epsilon}] \cdot \epsilon - [\frac{t}{\mu}] \cdot \mu)^2 + [\frac{t}{\epsilon}] \cdot \epsilon^2 + [\frac{t}{\mu}] \cdot \mu^2\})^{-\frac{1}{2}}.$$

Since

$$\{([\frac{t}{\epsilon}] \cdot \epsilon - [\frac{t}{\mu}] \cdot \mu)^2 + [\frac{t}{\epsilon}] \cdot \epsilon^2 + [\frac{t}{\mu}] \cdot \mu^2\}^{\frac{1}{2}} \leq \{(\epsilon + \mu)^2 + (\epsilon + \mu)t\}^{\frac{1}{2}},$$

it follows that

$$F_{J_\epsilon^{[\frac{t}{\epsilon}]}x - J_\mu^{[\frac{t}{\mu}]}x}(k) \geq \sup_{u \in Ax} F_u(k \cdot \{(\epsilon + \mu)^2 + (\epsilon + \mu)t\})^{-\frac{1}{2}}.$$

Letting  $\epsilon, \mu \rightarrow 0^+$ , we have

$$\lim_{\epsilon, \mu \rightarrow 0^+} F_{J_\epsilon^{[\frac{t}{\epsilon}]}x - J_\mu^{[\frac{t}{\mu}]}x}(k) = 1 \text{ for all } k > 0.$$

This implies that  $\{J_\epsilon^{[\frac{t}{\epsilon}]}x\}$  is a Cauchy sequence in  $E$ . Hence the limit

$$(3.2) \quad T(t)x = \lim_{\epsilon \rightarrow 0^+} J_\epsilon^{[\frac{t}{\epsilon}]}x$$

exists. Since  $J_\epsilon^{[\frac{t}{\epsilon}]}$  is contractive, for each  $x \in \overline{D(A)}$  the limit in (3.2) still exists and  $T(t)$  is contractive on  $\overline{D(A)}$  for all  $t \geq 0$ .

Next, let  $t, s \geq 0$  and  $x \in D(A)$ . Then, by Lemma 3.5, we have

$$F_{J_\epsilon^{[\frac{t}{\epsilon}]}x - J_\epsilon^{[\frac{s}{\epsilon}]}x}(k) \geq \sup_{u \in Ax} F_u(k \cdot \{([\frac{t}{\epsilon}] \cdot \epsilon - [\frac{s}{\epsilon}] \cdot \epsilon)^2 + [\frac{t}{\epsilon}] \cdot \epsilon^2 + [\frac{s}{\epsilon}] \cdot \epsilon^2\})^{-\frac{1}{2}}.$$

Since

$$\{([\frac{t}{\epsilon}] \cdot \epsilon - [\frac{s}{\epsilon}] \cdot \epsilon)^2 + [\frac{t}{\epsilon}] \cdot \epsilon^2 + [\frac{s}{\epsilon}] \cdot \epsilon^2\} \leq (|t - s| + \epsilon)^2 + (t + s) \cdot \epsilon,$$

for any  $u \in Ax$  and  $k > 0$  we have

$$(3.3) \quad \begin{aligned} F_{J_\epsilon^{[\frac{t}{\epsilon}]}x - J_\epsilon^{[\frac{s}{\epsilon}]}x}(k) &\geq \sup_{u \in Ax} F_u(k \cdot \{|t - s| + \epsilon\}^2 + (t + s)\epsilon)^{-\frac{1}{2}} \\ &\geq F_u(k \cdot \{|t - s| + \epsilon\}^2 + (t + s) \cdot \epsilon)^{-\frac{1}{2}} \end{aligned}$$

and

$$\begin{aligned} & F_{T(t)x-T(s)x}(k) \\ & \geq \Delta(F_{T(t)x-J_\epsilon^{[\frac{k}{3}]_x}(\frac{\eta}{3}), F_{J_\epsilon^{[\frac{k}{3}]_x-T(s)x}(k-\frac{\eta}{3})}) \\ & \geq \Delta(F_{T(t)x-J_\epsilon^{[\frac{k}{3}]_x}(\frac{\eta}{3}), \Delta(F_{J_\epsilon^{[\frac{k}{3}]_x-J_\epsilon^{[\frac{k}{3}]_x}(k-\frac{2\eta}{3}), F_{J_\epsilon^{[\frac{k}{3}]_x-T(s)x}(\frac{\eta}{3})}))), \end{aligned}$$

where  $0 < \eta < k$ . Since

$$\lim_{\epsilon \rightarrow 0^+} F_{T(t)x-J_\epsilon^{[\frac{k}{3}]_x}(\frac{\eta}{3})} = 1 \quad \text{and} \quad \lim_{\epsilon \rightarrow 0^+} F_{J_\epsilon^{[\frac{k}{3}]_x-T(s)x}(\frac{\eta}{3})} = 1,$$

letting  $\epsilon \rightarrow 0^+$ , we have

$$(3.4) \quad F_{T(t)x-T(s)x}(k) \geq \lim_{\epsilon \rightarrow 0^+} F_{J_\epsilon^{[\frac{k}{3}]_x-J_\epsilon^{[\frac{k}{3}]_x}(k-\frac{2\eta}{3})}$$

for all  $0 < \eta < k$  and  $k > 0$ . By (3.3) and the left-continuity of  $F_u(\cdot)$ , we have

$$(3.5) \quad \lim_{\epsilon \rightarrow 0^+} F_{J_\epsilon^{[\frac{k}{3}]_x-J_\epsilon^{[\frac{k}{3}]_x}(k-\frac{2\eta}{3})} \geq F_u((k-\frac{2\eta}{3}) \cdot |t-s|^{-1})$$

for all  $\eta \in (0, k)$  and  $u \in Ax$ . By (3.4) and (3.5), we have

$$F_{T(t)x-T(s)x}(k) \geq F_u((k-\frac{2\eta}{3}) \cdot |t-s|^{-1})$$

for all  $\eta \in (0, k)$  and  $u \in Ax$ . Letting  $\eta \rightarrow 0^+$ , by the left-continuity of  $F_u(\cdot)$ , we have

$$F_{T(t)x-T(s)x}(k) \geq F_u(\frac{k}{|t-s|}) \quad \text{for all } u \in Ax.$$

This shows that  $T(t)x$  is a Lipschitz continuous function in  $t$  for any  $x \in D(A)$ . Since  $T(t)$  is contractive,  $T(t)x$  is a continuous function in  $t$  for any  $x \in \overline{D(A)}$ .



Finally, letting  $x \in D(A)$  and  $t, s \geq 0$ , then

$$\begin{aligned} F_{J_\epsilon^{[\frac{t+s}{\epsilon}]}, x - J_\epsilon^{[\frac{t}{\epsilon}]} J_\epsilon^{[\frac{s}{\epsilon}]} x}(k) &\geq \sup_{u \in Ax} F_u(k \cdot \{([\frac{t+s}{\epsilon}] \cdot \epsilon - ([\frac{t}{\epsilon}] + [\frac{s}{\epsilon}]) \cdot \epsilon)^2 \\ &\quad + [\frac{t+s}{\epsilon}] \cdot \epsilon^2 + ([\frac{t}{\epsilon}] + [\frac{s}{\epsilon}])\epsilon^2\}^{-\frac{1}{2}}) \\ &\geq \sup_{u \in Ax} F_u(k \cdot \{(3\epsilon)^2 + 2(t+s)\epsilon\}^{-\frac{1}{2}}) \end{aligned}$$

for all  $k > 0$ . Letting  $\epsilon \rightarrow 0^+$ , we have

$$\lim_{\epsilon \rightarrow 0^+} F_{J_\epsilon^{[\frac{t+s}{\epsilon}]}, x - J_\epsilon^{[\frac{t}{\epsilon}]} J_\epsilon^{[\frac{s}{\epsilon}]} x}(k) = 1 \text{ for all } k > 0,$$

which implies that  $T(t+s)x = T(t)T(s)x$  for all  $t, s \geq 0$  and  $x \in D(A)$ . Therefore, since  $T(t)$  is a contraction, it follows that

$$T(t+s)x = T(t) \cdot T(s)x \text{ for all } x \in \overline{D(A)} \text{ and } t, s \geq 0.$$

This completes the proof.

REMARK. Theorem 3.4 is a generalization of the Crandall-Liggett's exponential formula for some kind of accretive mappings in Banach spaces to probabilistic normed spaces.

**THEOREM 3.5.** *Let  $A : E \rightarrow 2^E$  be an accretive mapping satisfying the following conditions :*

- (i)  $\overline{D(A)} \subset R(I + \epsilon A)$  for all  $\epsilon > 0$ ;
- (ii) If  $x_n \in D(A)$ ,  $y_n \in Ax_n$ ,  $x_n \rightarrow x$  and  $y_n \rightarrow y$  as  $n \rightarrow \infty$ , then  $x \in D(A)$  and  $y \in Ax$ .

Let  $\{T(t) : t \geq 0\}$  be the semigroups generated by  $A$  as given in Theorem 3.4. If  $x \in D(A)$  and  $u(t) = T(t)x$  is strongly differentiable for almost all  $t > 0$ , then  $u(t)$  is the unique strong solution of the Cauchy problem (E3.1):

To prove Theorem 3.5, we need the following:

**LEMMA 3.6.** *Let  $A : D(A) \subset E \rightarrow 2^E$  be an accretive mapping satisfying  $D(A) \subset R(I + \epsilon A)$  for all  $\epsilon > 0$  and  $\{T(t) : t \geq 0\}$  be the semigroup given in Theorem 3.4. If  $x \in D(A)$ , then for any  $x_0 \in D(A)$ ,  $y_0 \in Ax_0$ ,  $t \geq 0$  and  $\lambda \in (0, 1]$ ,*

$$P_\lambda(T(t)x - x_0) \leq P_\lambda(x - x_0) + \int_0^t [T(s)x - x_0, -y_0]_\lambda^+ ds.$$

*Proof.* Let  $x \in D(A)$ ,  $x_0 \in D(A)$  and  $y_0 \in Ax_0$ . For any  $\epsilon > 0$  and positive integer  $N$ , we have

$$\epsilon^{-1}(J_\epsilon^N x - J_\epsilon^{N-1} x) \in -AJ_\epsilon^N x.$$

Since  $A$  is accretive, by Lemma 3.1, we have

$$\begin{aligned} (3.6) \quad & [J_\epsilon^N x - x_0, \frac{1}{\epsilon}(J_\epsilon^N x - J_\epsilon^{N-1} x) + y_0]_\lambda^- \\ & = -[J_\epsilon^N x - x_0, \frac{1}{\epsilon}(J_\epsilon^{N-1} x - J_\epsilon^N x) - y_0]_\lambda^+ \leq 0. \end{aligned}$$

By Lemma 2.2 (vi), we have

$$\begin{aligned} & J_\epsilon^N x - x_0, \frac{1}{\epsilon}(J_\epsilon^N x - J_\epsilon^{N-1} x) + y_0]_\epsilon^- \\ & \geq [J_\epsilon^N x - x_0, \frac{1}{\epsilon}(J_\epsilon^N x - J_\epsilon^{N-1} x)]_\lambda^- + [J_\epsilon^N x - x_0, y_0]_\lambda^-. \end{aligned}$$

In view of Proposition 2.1 (iv), we have

$$\begin{aligned} (3.7) \quad & [J_\epsilon^N x - x_0, \frac{1}{\epsilon}(J_\epsilon^N x - J_\epsilon^{N-1} x) + y_0]_\lambda^- \\ & \geq \frac{1}{\epsilon}(P_\lambda(J_\epsilon^N x - x_0) - P_\lambda(J_\epsilon^N x - x_0 - (J_\epsilon^N x - J_\epsilon^{N-1} x))) \\ & \quad + [J_\epsilon^N x - x_0, y_0]_\lambda^-. \end{aligned}$$

By (3.6) and (3.7), we have

$$(3.8) \quad P_\lambda(J_\epsilon^N x - x_0) \leq P_\lambda(J_\epsilon^{N-1} x - x_0) + \epsilon[J_\epsilon^N x - x_0, -y_0]_\lambda^+.$$

Adding up the inequalities in (3.8) from  $N = 1$  to  $N = n$ , we have

$$(3.9) \quad P_\lambda(J_\epsilon^n x - x_0) \leq P_\lambda(x - x_0) + \sum_{N=1}^n \epsilon[J_\epsilon^N x - x_0, -y_0]_\lambda^+.$$

Letting  $t \geq 0$  and  $n = [\frac{t}{\epsilon}]$ , then (3.9) can be written as follows:

$$P_\lambda(J_\epsilon^{[\frac{t}{\epsilon}]} x - x_0) \leq P_\lambda(x - x_0) + \int_\epsilon^{([\frac{t}{\epsilon}] + 1)\epsilon} [J_\epsilon^{[\frac{s}{\epsilon}]} x - x_0, -y_0]_\lambda^+ ds.$$

Since  $|\{J_\epsilon^{\lfloor \frac{s}{\epsilon} \rfloor} x - x_0, -y_0\}_\lambda^+| \leq P_\lambda(y_0)$ , letting  $\epsilon \rightarrow 0^+$ , by the Lebesgue's convergence theorem, it follows from the upper semi-continuity of  $[\cdot, \cdot]_\lambda^+$  that

$$\begin{aligned} P_\lambda(T(t)x - x_0) &\leq P_\lambda(x - x_0) + \int_0^t \overline{\lim}_{\epsilon \rightarrow 0^+} \{J_\epsilon^{\lfloor \frac{s}{\epsilon} \rfloor} x - x_0, -y_0\}_\lambda^+ ds \\ &\leq P_\lambda(x - x_0) + \int_0^t [T(s)x - x_0, -y_0]_\lambda^+ ds. \end{aligned}$$

This completes the proof.

*Proof of Theorem 3.5.* For  $x \in D(A)$ , if  $T(t)x$  has a derivative  $\frac{d}{dt}T(t)x|_{t=t_0} = y$  at  $t = t_0 > 0$ , then, by Lemma 3.6, we have

$$\begin{aligned} P_\lambda(T(t_0 + h)x - x_0) &\leq P_\lambda(T(t_0)x - x_0) \\ &\quad + \int_0^h [T(t_0 + s)x - x_0, -y_0]_\lambda^+ ds \end{aligned}$$

for all  $h > 0$ . Dividing by  $h > 0$  on both sides and letting  $h \rightarrow 0^+$ , from Lemma 2.2 (ix), we have

$$[T(t_0)x - x_0, y]_\lambda^+ \leq [T(t_0)x - x_0, -y_0]_\lambda^+.$$

It follows from Lemma 2.2 (vii) that

$$\begin{aligned} (3.10) \quad & [T(t_0)x - x_0, y + y_0]_\lambda^- \\ & \leq [T(t_0)x - x_0, y]_\lambda^+ + [T(t_0)x - x_0, y_0]_\lambda^- \\ & = [T(t_0)x - x_0, y]_\lambda^+ - [T(t_0)x - x_0, -y_0]_\lambda^+ \\ & \leq 0. \end{aligned}$$

By the condition (i), for any  $\epsilon \in (0, t_0)$ , there exist  $x_\epsilon \in D(A)$  and  $y_\epsilon \in Ax_\epsilon$  such that

$$x_\epsilon + \epsilon y_\epsilon = T(t_0 - \epsilon)x.$$

Taking  $x_0 = x_\epsilon$ ,  $y_0 = y_\epsilon = \epsilon^{-1}(T(t_0 - \epsilon)x - x_\epsilon)$  in (3.10), we have

$$\begin{aligned} 0 &\geq [T(t_0)x - x_\epsilon, y + \epsilon^{-1}(T(t_0 - \epsilon)x - x_\epsilon)]_\lambda^- \\ &= [T(t_0)x - x_\epsilon, y + \epsilon^{-1}(T(t_0 - \epsilon)x - T(t_0)x) + \epsilon^{-1}(T(t_0)x - x_\epsilon)]_\lambda^- \\ &= \epsilon^{-1}P_\lambda(T(t_0)x - x_\epsilon) \\ &\quad + [T(t_0)x - x_\epsilon, y + \epsilon^{-1}(T(t_0 - \epsilon)x - T(t_0)x)]_\lambda^- \\ &\geq \epsilon^{-1}P_\lambda(T(t_0)x - x_\epsilon) - P_\lambda(y + \epsilon^{-1}(T(t_0 - \epsilon)x - T(t_0)x)), \end{aligned}$$

i.e.,

$$P_\lambda(T(t_0)x - x_\epsilon) \leq P_\lambda(\epsilon y + (T(t_0 - \epsilon)x - T(t_0)x)) \text{ for all } \lambda \in (0, 1].$$

Therefore, we must have

$$(3.11) \quad F_{T(t_0)x - x_\epsilon}(k) \geq F_{\epsilon y + T(t_0 - \epsilon)x - T(t_0)x}(k) \text{ for all } k \geq 0$$

and so  $x_\epsilon \rightarrow T(t_0)x$  as  $\epsilon \rightarrow 0^+$ . Since

$$(3.12) \quad \begin{aligned} & F_{y+y_\epsilon}(k) \\ &= F_{y - \epsilon^{-1}(T(t_0)x - T(t_0 - \epsilon)x) + \epsilon^{-1}(T(t_0)x - x_\epsilon)}(k) \\ &\geq \Delta(F_{y - \epsilon^{-1}(T(t_0)x - T(t_0 - \epsilon)x)}(\frac{k}{2}), F_{\epsilon^{-1}(T(t_0)x - x_\epsilon)}(\frac{k}{2})), \end{aligned}$$

from (3.11), (3.12) and  $\lim_{\epsilon \rightarrow 0^+} \epsilon^{-1}(T(t_0)x - T(t_0 - \epsilon)x) = y$ , it follows that

$$F_{y+y_\epsilon}(k) \geq F_{y - \epsilon^{-1}(T(t_0)x - T(t_0 - \epsilon)x)}(\frac{k}{2}) \rightarrow 1 \text{ as } \epsilon \rightarrow 0^+$$

and so  $y_\epsilon \rightarrow -y$  as  $\epsilon \rightarrow 0^+$ . By the condition (ii), we have  $T(t_0)x \in D(A)$  and  $y \in -AT(t_0)x$ . This completes the proof.

#### 4. An open question

In the end of this paper, we suggest the following open question :

Let  $(E, \mathcal{F}, \Delta)$  be a complete Menger  $PN$ -space and  $A : E \rightarrow 2^E$  be a continuous accretive mapping. Then is  $A$  a  $m$ -accretive mapping ?

#### References

- [1] V. Barbu, *Nonlinear Semigroups and Differential Equations in Banach Spaces*, Noordhoff International Publishing House, 1976.
- [2] H. Brezis and A. Pazy, *Semigroups of nonlinear contractions on convex sets*, J. Funct. Anal 6 (1970), 367-383

- [3] F. E. Browder, *Nonlinear mappings of nonexpansive and accretive type in Banach spaces* **73** (1967), Bull. Amer. Math. Soc., 875–882
- [4] ———, *Nonlinear operators and nonlinear equations of evolution in Banach spaces*, Proc. Symp. Pure Math., Vol. 18, Part 2, 1976.
- [5] S. S. Chang and Y. Q. Chen, *On the existence of solution for equations with accretive mappings in probabilistic normed spaces*, Applied Math. Mech. **11** (1990), 821–828
- [6] S. S. Chang, Y. J. Cho and S. M. Kang, *Probabilistic Metric Spaces and Nonlinear Operator Theory*, Sichuan University Press, P. R. China, 1994
- [7] M. G. Crandall and T. Liggett, *Generations of semi-groups of nonlinear transformations on general Banach spaces*, Amer. J. Math. **93** (1971), 265–298
- [8] M. G. Crandall and A. Pazy, *Semigroups of nonlinear contractions and dissipative sets*, J. Funct. Anal. **3** (1969), 376–418.
- [9] K. S. Ha, K. Y. Shin and Y. J. Cho, *Accretive operators in probabilistic normed spaces*, Bull. Korean Math. Soc **31**(1) (1994), 45–54.
- [10] T. Kato, *Nonlinear semigroups and evolution equations*, J. Math. Soc. Japan **19** (1967), 505–520
- [11] ———, *Accretive operators and nonlinear evolution equations in Banach spaces*, Proc. Symp. Pure Math. **18** (1970), 138–161
- [12] Y. Komura, *Nonlinear semigroups in Hilbert spaces*, J. Math. Soc. Japan **19** (1967), 493–507
- [13] V. Lakshmikantham and S. Leela, *Nonlinear differential equations in abstract spaces*, Pergamon Press, 1981
- [14] G. Lumer, *Semi inner product spaces*, Trans. Amer. Math. Soc. **100** (1961), 29–43.
- [15] W. Rudin, *Functional Analysis*, McGraw-Hill Book Company, 1973.
- [16] B. Schweizer and A. Sklar, *Probabilistic Metric Spaces*, North-Holland, 1983

Department of Mathematics  
Sichuan University  
Chengdu, Sichuan 610064  
People's Republic of China

Department of Mathematics  
Pusan National University  
Pusan 609-735, Korea

Department of Mathematics  
Gyeongsang National University  
Chinju 660-701, Korea

Department of Mathematics

Kyungsoong University  
Pusan 608-736, Korea

Department of Mathematics  
Sichuan University  
Chengdu, Sichuan 610064  
People's Republic of China